A. Zito, 1

Subtracting Polyvnomials

When subtracting polynomials change the sign to addition and change the sign of each term of
the second polynomial expression (the polynomial being subtracted)

Eg.(1) 3% +4x* -2 I+ 4x -2
= (5x242x~4) + 5% +2x+4
2%+ 6% + 2

Eg.(2) x> - 5x +2 4% —5x+2
=y it o Tl + 22+ Tx—4

5%% +2x — 2

What about:  6x* — (4x* + 2)
We can work it out the following way:

6X2 |:> 6X2

— 4% +2 + —4x*-2
2x* -2 we get the same answer

OR we can distribute the negative to every term in the bracket

6x2£_22+
C@x"+2)

65 —ilhat =2
o
Eg.(3) 7x*+ 650 — (4x* +2x° -1)
=7x* + 6x° —4x* - 2x° + 1
=3x"+4x’+1
Eg.(4) (-5x + 2y) — (-4x -7)
=5 +2y+dx +7
=-1x+2y+7
Eg.(5) -18x*+ 9x% — (13x* - 12x%)

= 18 0% — 135 +19%°
= 31x* 4214



